Instructions :
1. All questions are compulsory.
2. Figures to the right indicate full marks,

3. Write a new question on a new page. -

Q.1 Answer ANY TWO of the foilowing ; i [15]
a) Discuss various phases of trade cyclés.
b) Explain the determination of equilibrium level of income in an
open economy. .

c) State the principle of acceleration.

Q.2 Answer ANY TWO of the following : [15]
a) Explain the factors determining velocity of circulation of money.
b) What are the motives of demand for money ?

c) Describe cost-push inflation with the help of a diagram.

©
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Answer ANY TWO of the following : e : [15]
a) Discuss the liabilities of-a commercial bank.
b) State the factors affecting liquidity of commercial banks,

¢) Review the objectives of monetary policy.

Q.4 A)State whether following statements are TRUE or FALSE and give reasons
for the same. [ANY FOUR] Ei | 18]
1} Trade cycies are recurring.
ii) There is no foreigh trade in a closed economy.
iii) Transactions demand for mohey is income elastic.
iv) Inflation is a post-full employment phenomenon,
v) Loans and advances are the assets of ‘the_e commercial_ banks.

vi) During inflation RBI follows contractionary monetary policy, -

B) Choose the correct answer and rewrite the statement. [ANY SEVEN F 7
i) Which of the following is not the economic agent in a three-sector -
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a) Smith . b) Malthus c) Robertson
iii) As income increases, the marginal propensity of consume (MPC) ............

a) increases b) decreases ‘. c) remains constant
iv) Money supply does not include .................. ‘

a) currency b) Demand Deposits c) Money held by

v) Under liquidity trap demand for money becomes

---------------------

a) perfectly elastic b) perfectly inelastic c) more elastic
SR s is not a cause of inflation.
a) Increase in money supply b) Black money

c) More supply of goods
YW o does not affect the profitability of commercial banks.

a) Cost of funds b) Non-performing assets (NPAs) c) Nature of deposits

viii) LM curve shows the equilibrium in

.........................

a) Commodity market b) money market c) factor market
ix} Change in ... e affects the IS curve.
a) supply of money b) demand for money c) public expenditure
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